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| Time: 10 Minutes | Paper Math 7(T-1) |  Total Marks: 10

| 6th Month, 4th Week, IstDay |  Review Exercies 5Q#(1,2,3) |

Q.1. Choose the correct options. Ax5=5) - /,«l‘?ll(..,alﬁu/)
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(i) Ungrouped data is also known as:

(a
(c) | raw data )'}”rlp'v (d) [ quantitative data A

N~

quallitative data sz [(b)| grouped data Jlr‘d‘}/

(ii) The mean of five numbers is 15.75. If the first four numbers are 16.25,
14.25, 15.50 and 15.73 then find the 5 number.
:fmﬁul:f JU!Z16.25(14.25/)’15.50(15.73)’,@'}?/”-%15.75»)";}’}9'ég
(a) 16.25 (b) 17.02 (©) 15.73 (d) 14.25

(iii) The probability of not getting number 1 in a rolling a dice is:
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(@) 2 (b) L () L @ =
3 3 6 6
(iv) Grouped data can be in the form of: ‘4[:1:)1'6{&‘){} d/ ;lr‘u":j
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(a) | raw form J{; (b | (b) | ungrouped data

(c) | frequency table Jugdu; (d) [ None of these

(v) What is the mode of the data 2, 5,9, 4, 3, 6, 10, 11, 12?
S Unbb2,5,9,4,3,6,10, 11, 1250
(a) 2 (b) 9 (c) 12 (d)| No mode
uﬁ;(&(}f
Lozl f5ts
Q.2. The following list, is of scores in a mathematics examination.  (1x5=5)
:‘a‘!wﬁ}u/gf' b LJ...Q@//J“ 3l
45, 75, 60, 63, 62, 85, 40, 95, 96, 80, 82, 81, 67, 57, 48, 91, 89, 90, 95, 90,
61, 52, 45, 46, 98, 99, 57, 60, 63, 63, 67, 58, 70, 68, 61, 49, 53, 98, 89, 81,
79, 62, 59, 49.
Construct a frequency distribution table of the given data by using 5

number of classes. Also find the midpoints and class boundaries of the
given data.
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(i) Ungrouped data is also known as:

(ii) The mean of five numbers is 15.75. If the first four numbers are 16.25,
14.25, 15.50 and 15.73 then find the 5t number.
:fmxuifL?ux16.25<14.25/5'15.50<15.73)U9U.l,p/”i.‘a15.75&016/‘»!,«91({;!;
(a) 16.25 (b) 17.02 (© 15.73 d) 14.25
(iii) The probability of not getting number 1 in a rolling a dice is:
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(a) | raw form JQ ¢ G [ (b) | ungrouped data

(¢) | frequency table

Use$29 | (d) | None of these

(v) What is the mode of the data 2, 5,9, 4, 3, 6,10, 11, 12?
S /02662,5,9,4,3,6,10, 11, 1251
(a) 2 (b) 9 (c) 12 (d)| Nomode
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Q.2. The following list, is of scores in a mathematics examination.  (1x5=5)
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45, 75, 60, 63, 62, 85, 40, 95, 96, 80, 82, 81, 67, 57, 48, 91, 89, 90, 95, 90,
61, 52, 45, 46, 98, 99, 57, 60, 63, 63, 67, 58, 70, 68, 61, 49, 53, 98, 89, 81,
79, 62, 59, 49.
Construct a frequency distribution table of the given data by using 5
number of classes. Also find the midpoints and class boundaries of the
given data.
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